12. The number of geometric isomers that can
exist for square planar [Pt (Cl) (py) (NH;)
(NH,OH)]* is (py = pyridine) :

1 3

(2) 4

3) 6

4 2

13. Higher order (>3) reactions are rare due
to:

(1) increase in entropy and activation
energy as more molecules are
involved

(2) shifting of equilibrium towards
reactants due to elastic collisions

(3) loss of active species ﬂc@m

tr &ﬁty of s g@
colision of all the react{ng

14. Which among the following is the most
reactive ?

(1) Br,

2 L

(3) Id

4) da,

12.

13.

©

14.

1 FHAATE [Pt (Cl) (py) (NH,) (NHLOH)] *
(py = pyridine) & A gaEafadl s
T T

1 3

2) 4

3) 6

4) 2

3= wife sifafswan (>3) gelv § wHifw -

(1) sifye STupeT & wnfid B 9 Terdt 3R
Tferao ot & gfg et T
g@ FRO SRETH F

te T <1 T Bl B |

St e e A

(4) wfdfshan & et goTfaal & T e Tam
1 G 4 Bl B

frfafaa o @ =m gaiftus sifufwartie & 2

(1) Br,

2 I

3) ICl

4) d,
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21.

22.

23.

The following reaction is performed at
298 K.

2NO(g) + Oz(g) = 2NO,(g)

The standard free energy of formation of
NO(g) is 86.6 kJ/mol at 298 K. What is
the standard free energy of formation of
NO,(g) at 298 K? (K,=1.6x10'%)

(1) 86600 +R(298) In(1.6 x 1012

In (1.6 X 10'?)

(2) 86600 —
R (298)

(3)  0.5[2x 86,600 —R(298) In(1.6x101?)]
(4)  R(298) In(1.6 x 101%) — 86600

Which of the following compounds is not

colored yellow ?

(1) K3[Co(NO,)]

)

2)  (NHy); [As (Mog Ogp)4l
) ) “ oM
)

(
(3) BaCrOy4
(4 ﬁv@mg Page
In Carius method of estimation of

halogens, 250 mg of an organic compound
gave 141 mg of AgBr. The percentage of
bromine in the compound is :

(at. mass Ag =108; Br =80)

1) 36
) 48
(3) 60
4) 24

21.

22.

wﬁz

23.

fr=fafaa stfafsan 1 298 K« foan )

2NO(g) + Oz(g) = 2NO;(g)

298 K T NO(g)  HJaT & AT o Holl
86.6 kJ/mol 81 298 K T NO,(g) i WH
T Sl 1§ ? (K, =1.6x1019)

(1) 86600 +R(298) In(1.6 x 1012

In (1.6 X 10'?)

2) 86600 —
R (298)

(3)  0.5[2% 86,600 —R(298) In(1.6 x 1012)]
(4) R(298) In(1.6 x 101%) — 86600

ﬁqn@ﬁﬁﬁﬁﬁﬁqﬁ?ﬁﬁm e &
€72 W

g@&eozm
§g3 [As (Mo Oqp)4]

( Zn,[Fe(CN)]

TS o TR i hitetd fafd § 250 mg
F1efie ATH 141 mg AgBr 3@ &1 AT
T S &t gfaerar §

(THIveH §7H7 Ag =108; Br=80)

1) 36
) 48
(3) 60
4) 24
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34. The sum of first 9 terms of the series

13 13 +2% 13 4234 33 ,
— + + + ....1S:
1 1+3 1+3+5

1) 96

2) 142

(3) 192

4) 71

35. Let O be the vertex and Q be any point on
the parabola, x2=8y. If the point P divides
the line segment OQ internally in the ratio
1 : 3, then the locus of P is :

1) y*=x
(2) y*=2x
(3) x2=2y

) sz(:lé\,\e\l\l

36. Let a and B be the roots of equation
x>—6x—2=0. If a,=a"—p", for n>1,
0 -

a a
then the value of —1 8 s equal to :

2a4
1) -6

2 3

@) -3

4 6

34.

35.

36.

groft

13 13 +2% 13 423433

o+ + ...
1 1+3 1+3+5

UH 9 TS T A ©

1) 96

2) 142

3) 192

4) 71

AT TEad x2 =8y I TWH O T4 39 T HI5
fag Q &1 =afe fag P, Y@r@E OQ +1
1:3 % offales U | siedr €, a1 P &

AT o d1 B fgoma et a2 —6x —2=07h
Ta §1 3 n=1 % fAU, a =an-png, @

a10 = 238 oy,

2a,
1) -6
2 3
3 -3
4) 6

B/Page 13
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55.

56.

57.

O 2 20
If A= % 1 -2 Eis a matrix satisfying
B 2 bH
the equation AAT =9I, where I is 3x3
identity matrix, then the ordered pair

b) is equal to :

(a,

1 (=21
2 27
G (=2 -1
@ @ -0

If the function.

Hovx + 1

0=x=<3
g(x)= [
gm x+2

3<x <5
is differentiable, then the value of k+m is :

16
O

@ 5 WO

The set of all values of N\ for which the

system of linear equations :
2x1 —2xy + X3 =Axq

2x1 —3x5+ 2x3=NX,
—xq+2x, =\x3

has a non-trivial solution,
(1) is a singleton.

(2) contains two elements.

(3) contains more than two elements.
(4)

is an empty set.

55.

56.

xﬁ‘f@\
o of A0

57.

0 2 20
afc A= 2 1 -2 0U% TH aegE § S
B 2 bH

AR THIF AAT=91, FT TI= FT &,
STEl 1, 3% 3 <1 AcqHe A8 &, 1 shidd I
(a,b)EhTtIF{%:

1) (=21
2 @1
B (=2 -1
4 @ -1
Ife e
QC\/X-Fl 0<x<3
g(x) =
Bnx + 2 ,3<xs5

aawﬁ'q%, A k+m T HH=

o cOY

A F Tt w1 g, e foe Yaw
THH R

—x1+2x%, =\x3

1 TF TS T ©,

(1) T Tohel T== €|
) #H 3 eEEE

3) H Y eifusk sraHd ¥
(4) T o gy B

B/Page 20
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76. A rectangular loop of sides 10 cm and
5 cm carrying a current I of 12 A is placed
in different orientations as shown in the

figures below :

5|

If there is a uniform magnetic field of

0.3 T in the positive z direction, in which
orientations the loop would be in (i) stable

equilibrium and (ii) unstable equilibrium ?
(1) (a) and (c), respectively
(2) (b) and (d), respectively
(3)  (b) and (c), respectively

(4) (a) and (b), respectively

76.

10 co 15 cm STl & Teh SAFARR U
(ureT) B U foegd uw, 1 = 12 A, Yafed &
W T 3T U H SRE T T R
fafum erfufa=mal (feafaai) & wan e {

Ife 98T 0.3 T diedl 1 I THAAN TeH
&, YA 2 foen o formm € @1, <ol ™
frg srfufa=ma &, I8 ar (SU) (i) Tt
HAAT T (i) STETA T H, 2 2

(1) YA (a) 94 () |
(2) HEW: (b) AT (d) H
(3) UL (b) qUT(c) H

(4) THEW: (a) AT (b) H
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89.

90.

Two long current carrying thin wires, both
with current I, are held by insulating
threads of length L and are in equilibrium
as shown in the figure, with threads
making an angle ‘0" with the vertical. If
wires have mass A\ per unit length then the
value of Iis :

(g =gravitational acceleration)

wAgL

2sin®
(1) Ko cosb

wgL
Ko

tan6

(2)

On

index of air is smallest near the ground and

hot summer night, refractive
increases with height from the ground.
When a light beam is directed horizontally,
the Huygens’ principle leads us to conclude
that as it travels, the light beam :

(1) goes horizontally without any
deflection

bends downwards

—_
W N
~—~ ~—

bends upwards

becomes narrower

—~
=~
N

-00o0-

oM
(4) sino |8k \|\| "( ‘
(J@@ pag®

WO
e ol

89.

90.

ﬁmaﬁaﬁﬁmﬁlwwﬁﬁ‘@@
Bl 3R LA & for@edt umi 9 dewm
TR T YT A YA o g SR fowm |
‘o o1 I i Teafd #, 3 ST AR ArETEEen
¥ wd €1 A = I =) ufq SR e
THAM \ T q1 g Tocd 1 @R ¢, [ 1 7
BT ;

mwAgL
Ko cosd

) 2/ tan® O \)\A

(1) 2sin@

tan6

f*rr}\gL

Ko cosb
oA g 1 T O H, 47t o ke, a1 i
STTEIoh =[AqH B § SR -7 ¥ a1 %
Y Tgdl I &1 AfE, B FHhE-FRo-ge
Sfast feen # s @1 @ @, e % fagra @
g uftore g gtar @ f&, 9dd gy
W—W‘FY:

(1) o fadifia gu, afast fown & e

T

(2) = T SR geh SR

(3) W FI 3R P& S|

(4) Egied (Fhivl) B S

-00o0-
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